Trigonometric Functions - Class XI

Related Questions with Solutions

Questions

Quetion: 01

In cyclic quadrilateral ABCD . ifcot A = Zand tan B = _?12 , then which of the

following is(are) correct?

AsinD = —

13 16
B-SiH(A+ B) = %
C.cosD = _—5

13 16

Solutions

Solution: 01

3 3
A = — — = — = —
cot i cot(m — () i cot C 1

= (' is obtuse angle.
sin(C = R and cosC = %

—12 12
tan B = — = tan D = 5
= D is acute angle.

12
sinD = — and cosD = —
13 13
Hence, sin[C + D] = sinC . cosD + cosC . sinD

“(5) () (5) ()

2036 —16

65 65
Also, sin[A + B] = sin[27 - [C + D]]

1
=—sin(C’+D)=£

Correct Options

Answer:01
Correct Options: A, B, D



